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X

2. 3 ,

IAPP=(t+1)%+( =T Y=C+2t42— - = ﬁ =(C+ g )+2(t_i Y2=(t— = Y+2(t— o )+10=( t— L +1)°+9
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?

-1+ -5+
Ffru:"—"lt—£+1=0 PR t= l‘z‘jﬁ, LR x= S'Z‘E i, APl =3
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16. B f(x) == log, ;’”""féﬁ@ﬂo
X —X

(1) RKm (1
(2) e EwWrE, H4TUEY].

(D) e f(x) RWTRES o f(0)+ f(x)=0;

n (—g—logz 11 mx)+(__l 1+ mx
+

) 0, #183: m=1, Hym=-1 (£);

LI m =18, f(x)= ——logzi-i-—x(xe( 1,0) L (0,1)) Bl 237 26 52 .

(2) 05T f(x) £ (0, 1) ARREME, FIx. x€ 0, 1), Hf x<x2, W
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2 1+ x . 1+ x,
f(xl)—f(xz)=__10gz '——+10g2 i
Xy —k % 1-%;
2 2 2
=(———) +[log,( =H=lagy(——=1)];
5N X I=; K
[l]l—i>0,log2( 2 —1)—log2(—2 - >0,
. 8 L=, fi=a

3 f(x,)— f(x,)>0, BI f(x)7E €O, 1) PYEATTIHME:

T f(x) AR g, BSOS EAxIFR, FrLRE f () £ (=1, 0O AR EH.



